(@)

(h)

inswer the following g briefly :
(i) Why do the rich take to cvchng ?

(if) What awareness has cycling brought ?

(iii) Where can cycling be of use ?

(iv) Why has the ride on a bicycle not been smooth ?
(v) Give the name of the cycling club in Gurgaon.

following a S
tnswer the following questions :

(i) The synonym of the word‘'mindset’ in paragraph 1 is _HX_L___.{ “‘Htj
(a) behaviour (b) mentality
(¢) character (d) psyche

(ii) The synonym of ‘adapts’ in paragraph 1 is Qr ‘ j uiJ ul,d’
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(1) The antonym of ‘utmost’ in I“"“K“‘P‘
) (b) uppermo*t

(a) smallest Jess
() least !"d«ﬂ
(ir) The antonym of ‘smooth” in paragraph Zis
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(a) Answer the following questions briefly :
(i) How did the ancient Hindu women treat those who had done them wrong ?
(i) Which example does the writer give of Draupadi’s aptilUdEv for forgiveness ?
(iii) Who was Gautami ? '
(iv) What was not common in ancient times ?
() What is the substance of the priest’s words spoken to the widow at her husband’s funeral ?
(b) Complete the following statements :

»
(i) Widow remarriage was not __, WWW@ -CH’LQ’A)@W. (,V{M

(ii) Let not Gautami suffer as

(¢) Answer the following questions :
5§ 4

(i) The synonym of the word ‘striking’ in paragraph 1 is M&L@ML

(a) violent (b) remarkable
(¢) big (d) great
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(i) Th
€ ant
(a) \‘rc:::‘:m of ‘united' in paragraph 2 1 ¢
(©) divided () fallen
() umhvuh
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(i) The symptoms of reaction to Hair dye develop JM&&A&{K%_ :
(a) too late (b) immediately

(¢) in a month’s time (d) after years /

(ii) Men who use hair dyes on their beard develop lesions over Uﬂf ’
(a) scalp (b) legs
(c) face (d) eyes

(iii) Due to repeated use of hair dyes, the hair Mﬂﬂ
(a) becomes bright (b) loses its shine

(¢) becomes grey (d) gets dry
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(iv) If a person reacts to the patch test; he should _“!Ait pIC S bc,f;‘%

(a) not use hair dyes (b) try some different brand

(¢) take some medicine d) consult a doctor  ~
(») The most common symptoms of the hair dyes are ,ﬂ@&%—wb{mﬁ
(a) itching and burning scalp (b) hairfall 6@]]{‘:8
(c) weight loss (d) obesity o
(vi) The synonym of ‘lesions’ in paragraph 2 is Lingadard
(a) injuries (b) instructions
(¢) inflammations (d) scars D
(vii) The antonym of ‘different’ in paragraph 4 is AEW’LO" s
(a) unique (b) similar
(c) opposite (d) dissimilar
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